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QUESTION NO: 1

Which ONCONFIG parameter would you use to disable the automatic creation or extension of chunks?

A. SP_WAITTIME

B. SP_THRESHOLD

C. SP_AUTOEXPAND

D. SP_CHUNKEXTEND

ANSWER: C 

QUESTION NO: 2

Which two statements are true? (Choose two.)

A. Logical log files must always reside in rootdbs.

B. Having too little log space does not affect performance.

C. Having too much log space does not affect performance.

D. Simple large objects in blobspaces are not logged and they are included in the log backup in which the object was 
created.

E. Simple large objects in blobspaces are not logged and they are not included in the log backup in which the object was 
created.

ANSWER: C D 

QUESTION NO: 3

Which two actions can you perform with ontape? (Choose two.)

A. Backup to cloud

B. Restartable restore

C. Backup specific storage spaces

D. Restore specific storage spaces

E. Parallel backup of storage spaces

ANSWER: A D 
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QUESTION NO: 4

Given an OLTP environment with a very large table, which configuration parameter can be set to allocate more memory for 
sorting when building an index on the large table?

A. DBUPSPACE

B. DS_POOLSIZE

C. VP_MEMORY_CACHE_KB

D. DS_NONPDQ_QUERY_MEM

ANSWER: D 

QUESTION NO: 5

Which value of DRINTERVAL should be used for HDR_TXN_SCOPE configuration parameter to take effect?

A. -1

B. 0

C. 1

D. 30

ANSWER: B 

QUESTION NO: 6

The Rolling Window clause of the ALTER FRAGMENT MODIFY INTERVAL statement CANNOT define a purging policy on 
a table that has which two attributes? (Choose two.)

A. The table has a ROWID shadow column.

B. The table has a Fragment By Range index.

C. The table has a Unique Key being used by ER.

D. The Fragment Key is defined with multiple columns.

E. The Primary Key for the table is referenced by a foreign key constraint.

ANSWER: A E 

QUESTION NO: 7
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Role separation provides checks and balances to improve the security of your event-auditing procedures. Which two roles 
must be associated with group IDs to enable role separation? (Choose two.)

A. DBSEC: DB Security Officer

B. AAO: Auditing Analysis Officer

C. DBASO: DB Audit and Security Officer

D. DBAMO: DB Audit Management Officer

E. DBSSO: Database System Security Officer

ANSWER: B E 

QUESTION NO: 8

Which objects can be compressed?

A. CLOBs

B. smart BLOBs

C. partition BLOBs

D. blobspace BLOBs

ANSWER: C 

QUESTION NO: 9

Which statement is FALSE about dbspace configurable page sizes?

A. Dbspace page size can only be set for non-critical dbspaces.

B. Possible page sizes are multiples of the default page size up to 16 kb.

C. Configure page sizes as close to the backup / restore and network buffer size as possible for efficient data transfer across 
the wire.

D. Dbspace page size should be configured to accommodate the greatest number of average row sizes with a minimum of 
remainder pages being used.

ANSWER: C 

QUESTION NO: 10

Which two parameters must be set to a valid value before starting a Shared Disk (SD) Secondary server? (Choose two.)
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A. SDS_PAGING

B. SDS_TIMEOUT

C. SDS_TEMPDBS

D. SDS_LOGCHECK

E. SDS_ALTERNATE

ANSWER: A C 
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